N = 0l & At & M A

SN BED
B (ZDE 84 ¥ L ONYSH(+SUDS/HERE - 2RSIIEH
Sl DEFAL 2HE U 2o (B9 ®R)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
DED 50,202,783 48,777,336 1,425,447
2 241,000 196,000 45,000
= 2,005,452 1,595,452 500,000
Al 47,866,331 46,985,884 830,447
DS S4 MY L HHA(4SUDNS/HEDS 48,749,485 47,329,569 1,419,916
SOIE)
2 241,000 196,000 45,000
= 2,005,452 1,595,452 500,000
Al 46,413,033 45,538,117 874,916
DSFAL 25 L 22 6,767,708 5,347,792 1,419,916
2 45,000 0 45,000
< 500,000 0 500,000
Al 6,222,708 5,347,792 874,916
DEAHAEE £ L 2ol 5,450,870 5,347,792 103,078
201 et | 1,100,870 1,197,792 £96,922
01 Ak 22l 1,500 3,168 A 11,668
O Y8yl 1,500 13,168 A11,668
o DEFBHE SYI FNBA 242
33 02 0 2,160 ~2,160
o DEFBHE 2YHH FUEY 442
33 02 0 3,000 £3,000
o DEFBHE MIIQFBE| HY 242
33 02 0 3,528 £3,508
o DEFBHE X MIIEH HIIZA
33 02 0 1,000 A1,000
o DEFBHEH PUFHAAY +42
33 02 0 1,980 A1,980
02 232 1,099,370 1,184,624 85,254
O 2222 2 WAl 534,200 611,600 AT7,400
o DEFBHE MRS 33 02 0 72,000 AT2,000
o DEFLHEH 445 23 35 02 0 5,400 A5,400
O N&ZHIRXHI 565,170 573,004 AT7,854
o DEFRHE A2 2N 33 02 0 1,854 A1,854
o DEFSLMH A¥aH SN
33 02 0 1,000 A1,000
o DEFBME FMII&H KXY
33 02 0 5,000 A5,000
401 AIEHI L 2 THHI 4,300,000 4,100,000 200,000
01 Al 4,269,760 4,071,200 198,560
O NOIQHE T2YHE CCTV & X
200,000,000% * 99.28/100 198,560 0 198,560
03 Al = Ch bl 30,240 28,800 1,440
O NOIQHE T2YHE CCTV & X
200,000,0009! * 0.72/100 1,440 0 1,440
NXA (TS 25 X 226,838 0 226,838




2AMd: DS
FM: (5SS 84 I L 8L (85X nS/HEnE - 23SIIE)
E?: NSHHAL &5 Y 2e (Sl & &)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
TAIEHI &R 226,838 0 226,838
01 A& HI 226,838 0 226,838
O XNsEUSHACTS) =5 At
226,838,000& 14 226,838 0 226,838
Ol==DJotE NS AIEZ A 1,000,000 0 1,000,000
< 500,000 0 500,000
Al 500,000 0 500,000
401 AIEHI L 20HEI 1,000,000 0 1,000,000
< 500,000 0 500,000
Al 500,000 0 500,000
1T AIZHI 993,700 0 993,700
O H==ItaH NSATAILS HLHAS
1,000,000,000& = 99.37/100 993,700 0 993,700
< 500,000 0 500,000
Al 493,700 0 493,700
03 AIE 2 THHI 6,300 0 6,300
O 042N DSAHALES HLAY
1,000,000,000‘3 * 0.63/100 6,300 0 6,300
ANHWSetd SFIHE ALY 90,000 0 90,000
= 45,000 0 45,000
Al 45,000 0 45,000
401 AIEHI L 20 90,000 0 90,000
= 45,000 0 45,000
Al 45,000 0 45,000
A& HI 89,028 0 89,028
O +=Sx=Sstun HB0ES7S HAAMY
50,000,000& = 98.92/100 49,460 0 49,460
= 25,000 0 25,000
Al 24,460 0 24,460
O SERXE HEES7Y HEAY
40,000,000& + 98.92/100 39,568 0 39,568
= 20,000 0 20,000
Al 19,568 0 19,568
3 A& 2| ar2 0 972
O H+Sx=Ssd HB0ESTH HAAY
50,000,000_J * 1.08/10 540 0 540
O S8R HEESTY HEAY
40,000,000& = 1.08/100 432 0 432
HWRes(REN) (>3LnsS/HENS - =3 SIIE) 1,352,831 1,347,300 5,531
RSN 5,531 0 5,531
EXdRE 5,531 0 5,531
802 g+t = DI Et 5,531 0 5,531
02 Al - SHIZEXSEHES 5,531 0 5,531
O RcaEd HXA4 5,531 0 5,531
o ANSEH 5,240,000& * 14l 5,240 0 5,240
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